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(1) ZBFE (V) CTHOERICED v = 100 %
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m= a2 X SL = 1.250 X 27 = 33.8 N/mf
XoT m = 338 N/uwf

(3) kA REE(W/C) m = -15.4 + 26.4 X C/W

W/C 26.4 = (33.8 + 15.4) X 100 = 53 % = [55% (L-[Rf#) ]
SWAE = 5 %
(4) BAKE (W) UTHEOEHFICED W = 175 kg/m
(5)HAEAFE(C) C =W+ (W/C) X 100 =175 = 53 X 100 = 330 ke/m
Cv= C +— #E = 330 - 3.02 =109 L/m
{6)”'#5,%(1—‘&) A =45 % X 1000 = 45 L/m
(7) BACHBEME (G VTHOERKICEID HEERM = 0.620 m/md EFEE = 580 %
Gv = 0.620 x 1000 X 58.0 = 100 = 360 L/m
Glv = Gv X 60.0 % = 216 L/m Gl= GIVXEELEE = 216 X 2.62 = 566 ke/m
Gl = Gv X 40.0 % = 144 L/m Gl= GHWXEREEFE = 144 X 2.62 = 377 kg/nod
(8) BAfAEHME (S) Sy = 1000 — W+Cv+Gv+A) = 1000 — 689 = 311 L/m
Slv = Sy X 70.0 % = 218 L/nd Sl= SIVXEELEBE = 218 X 2.56 = 558 keg/m
S2y = Sv X 30.0 % = 93 L/ni S?= SIVXEWEE = 93 X 2.56 = 238 ke/m
9) MM E(s/a) s/a = Sy = (Gy+ X 100 = 46.3 %
(10) HAREMFE (Ad Ad = C X FIE X #=E = 330 x 0.8000 % >< .00 = 2.64 kg/m
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